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Chapter 3 ?est Form y): S  scome

| Wnte the letter for the correct answer in the blank at the right of each quest:on -
1. The system of equations y = 2x — 3 and y = 4x — 3 has m
A. exactly one solution. C. mﬁmtely many solutions. %} : §
B. no solution. D. exactly two solutions. L2 $
: ' _ %)
Choose the correct description of each system of equations. : ::’
F. consistent and independent H. consistent and dependent }: '
G. inconsistent , J. inconsistent and dependent 2.
2.x+2y=7 3. 2¢ + 3y = 10 . g ﬁ
3x—2y=5 4x + 6y = 20 ’

To sclve each system of equations, which expression could be
substituted for x into the first equation?

4, 3x ~ by =14 A, 10 — 4y C. 49y + 10
x + 4y = 10 1.5 1.5 f'/%
B.w-x+2 ‘ D. Zx+2 4, ¢ &
5. 2¢ + Ty = 10 F.«%x+15 Hogx-15 .
Fody=15 G. 2y + 16 J. 2y ~ 15 5. ;@;

2 Bx — 5y = 21"

6. The first equation of the system is multiplied by 2. - Ao+ Tw = 15
By what number would you multiply the second = - ** 7 ¥ = 2 _
equatien to eliminate the x variable by adding? >
A.3 "B. -3 c.2 D. -2 6.1

_ : Ll Ey = 1A _

7. The first equation of the system is multiplied by 4. %ﬁ i Zy _ ig’
By what number would you multiply the second ¥y == ' :
equation to eliminate the y variable by adding? : ) ,
F. 5 G. -5 H. 2 Codo=2 o 7.

For Questions 8 and 9, solve each system of equations.

8. 4x — 3y =14 Y x-B{-5ywwu e i .-A‘ (1,1 C. 5,2 | D
”B (—4, _10) L (2, -2) 8. Lo
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y= —'Sx + 4 “e v [ K‘\f “":5;:-
9 b —3y=8_ F (-2, H. (2,00 -
k; 2ty -9 A G, (0, —83) dJ. (% —2) e
10. Wthh system of equatlons is graphea‘? Wﬁﬁms 4 |
bt M 2xty=1 G 2+y=1 N
»33 2 ~3x—y=3 3x—y=3 ey A T
B.2x+y=~1 D.2x+y=—-1%" T T . 10 ,,.L?@
3x~y=38 —8x—y =34 2 ?

11. Which system of inequalities is graphed" ANEANN

1 E 2x+y=35 \ﬂ 2 —y= R A
i g  3xt+2y=9 3x + 2y < g RS A

F G 2¢+y > b J —2+y>5
e T 1B — 2y =9 3x - 2y=9

-
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12. Find the coordinates of the vertices of the figure formed by the system
x=z0,y=-2,and2x +y = 4.

A. (3, -2),(0,4),(0, -2) G (0,0),(0,4),(2,0 z_“\
B. (—2, 0), (4, 0), (-2, 3) D. (-2, 3),(0, 4), (0, —2) 12
For Questions 13-15, use the system of inequalitiesy = 1,y — x <6, a
andx + 2y s 6. (Geaehs ' CCSaY (a0 D
13. Find the coordinates of the vertices of the feasible region. (~2 4 L
F. (-6,0),(~2,4), (6,0 H. (-5 1,(-2,4),(4,1) H
G. (0, 1),(0, 3), (4, 1) d(=5,1),(-2,4),(0,8), 0,1 13, 1
14. Find the maximum value of f(x, y) = 2x + y for the feasible region. s
A .0 B. 11 C. 9 - D. 8- 140 ot
15. Find the minimum value of j"(x, y) = 2x + y for the feasible region. 1!”%
F. —-10 G. 0 H. -9 J. —4 15, LY
16. What is the value of z in the solution e+ By —z=12 Lreens T

i

of the system of equations? |~ “&~ /2 g~y +tz=-3
: T —2x+ 2y +z=3

fffff

oty &
L

7 s v effé. . * .‘“\'
A -1 B. 12 C. 3 D. -2 16. Wh

Tickets to a golf tournament are sold in advance for $40 each, and on. -

the day of the event for $50 each. For the tournament to occur, at least

2000 of the 8000 tickets must be sold in advance. o

17. Let a represent the number of advance tickets sold and d represent the
number sold on the day of the tournament. Which system of inequalities s
represents the number of tickets sold? (xs=2.(o03 )y (2090, 467) (Room, 22

F. a¢ =2000,d = 0,a + d = 8000 H.¢=0,d=0,a +d=8000 %R
P G.a=0,d=0,a+d=2000 o J. a=40,d <50,a +d = 2000 17
; (;{ﬁ Aoy s HOA - DY, ) _ ‘ ] _
7 18. How many advance tickets should be sold to maximize revenue? E‘\
A. 6000 B. 2000 C. 4000 D. 8000 18, =

A local gas station sells low-grade (£), mid-grade (m), and premium (p) )
gasoline. Mid-grade gasoline costs $0.10 per gallon more than low-grade, - A
and premium gasoline costs $0.10 per gallon more than mid-grade % {3= 0y + 17"
gasoline. Five gallons of low-grade gas cost $9. ~— = iﬁ

19. Which system of equations represents the cost of each type of gasoline?

# { {:J?" JQ’W

“0U} 'Se|URCRLOD WH-MBIDOW SUL J& UOISIAID B "lIiH-WeIDony/ecsusip) B 1buAdo,

F 5 +m=9m=¢€+010,p=m + 0.10 L= 150
G.5(=9,m=¢-0.10,p=m —0.10 e ﬁ“?_ﬂ%
H. 5¢ =9, m = £+0.10,p = m + 0.10 b= 3-& f,}
J. 0.10€ + 0.10m + 5p = 9,0.106+m=0,010m+p=0 19.
26. What is the cost of one gallon of premium gasoline? ‘ - ot
A. $1.80 B. $1.90 C. $2.00 D. $2.10 20. (. y
Bonus Solve the system of equations. . .. /'? I S ¢ &9’
a+b=6 ce+d=4""" " f+a=2 ~ L 7 e

- = P =

e
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